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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This questions paper contains 10 questions.

(it)  All questions are compulsory.

(iti) This question paper is divided into five sections — Section A, B, C, D and E.

(iv) Section A — Questions no. 1 to 3 are Very Short-answer Type Questions,
carrying 2 marks each.

(v)  Section B — Question no. 4 is Source-based Question, carrying 3 marks.

(vi) Section C — Questions no. 5 and 6 are Short-answer Type Questions, carrying
3 marks each.

(vii) Section D — Questions no. 7 to 9 are Long-answer Type Questions, carrying
5 marks each.

(viii) Section E — Question no. 10 is Map-based Question, carrying 5 marks.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in some questions. Only one of the choices in such questions
has to be attempted.

SECTION A
(Very Short-answer Type Questions)

Attempt all questions. 3x2=6

1. Why is ‘access to labour supply’ necessary for industries ? Explain. 2

2. “Rural marketing centres cater to nearby settlements.” Explain the
statement. 2

3. (a)  Mention any four features of the ‘North-Western Region’ mineral

belt in India. 4xé =2
OR
. _ . . 1
(b)  Mention any four characteristics of ‘metallic minerals’. 4><§ =2
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qey 3R Sff dieRar @ H SAat YT WERAT H forT SEHEa W H g 2 |
Tl s WA AdFaE Siiad FHafg $N 9 IRERY W Agia off ed
QTETEl 3R G o 3cq1e W o TG Srar o | 9eg 209 Srarsal o IAfad
i TRT o G, WO &7 | gl 3R o1 Tohd] HEwl hl Wl § deradl g3
2 | T I8l @t 3neft off WornTa deRiient © I ST ] | 39 & i refeTewe
o US[ERYT % Hed HEd i 39 o1d © ATl ST Tehal & foh 319 ol UTHATHE
ghTSAl oh1 GHal W &l R JaE R 8 | Wed TE7 SHSIA A ol §gd
Tiasiie 2 #ifh $eh! Teh gl HEAT IG g H HiY R AIGU Hish JTSHfehT
HAM o T M1 3 ATEIE & & § JaTH HLdl 7 |

4.1) ‘mufed SedE foem i (EASR) K FE @

TTfieRdret i Iea iU | 1

(4.2) ‘ouf<a e fowm gfensm (8. d.Ed.)’ 3 foea yer ‘mer
% Sfiae ! gHTfaa foam 2 Tuse i | 1
(4.3) WER &F H UIERT HI Hg FA1 U @I ? 1

wWUE T

(1937 ThR & T9) 2x3=6

(%) “fova o snyfye fmiv & geg gohgw o2 & woE ¥ Hfm § 17
3CTEWN Higd 39 HUA hl gfee T | 1x3=3

YT

(@) “Pdr 3 fmiv S g8 B THE 7 |7 N Afgd 39 HAT h
gfee HiivT | 1x3=3
“aftgs’, T=R’ ¥ fora JoR fiE ] 2 Ieren afgd s Fifve | 1x3=3
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SECTION B
(Source-based Question) 3x1=3

Read the following source and answer the questions that follow :

The social benefits derived from Integrated Tribal Development Project
(ITDP) include tremendous increase in literacy rate, improvement in sex
ratio and decline in child marriage. The female literacy rate in the region
increased from 1:88 per cent in 1971 to 65 per cent in 2011. The
difference between males and females in literacy level i.e., gender
inequality, has also declined. Traditionally, the Gaddis had subsistence
agricultural-cum-pastoral economy having emphasis on foodgrains and
livestock production. But during the last three decades of twentieth
century, the cultivation of pulses and other cash crops has increased in
Bharmaur region. But the crop cultivation is still done with traditional
technology. The declining importance of pastoralism in the economy of
the region can be gauged from the fact that at present only about
one-tenth of the total households practise transhumance. But the Gaddis
are still very mobile as a sizeable section of them migrate to Kangra and
surrounding areas during winter to earn their living from wage labour.

(4.1) Mention any two priorities of ‘Integrated Tribal Development

Project (ITDP)’. 1

(4.2) How has ‘Integrated Tribal Development Project (ITDP) affected
the life of ‘Gaddis’ ? Explain. 1

(4.3) Why is the importance of pastoralism declining in Bharmaur
region ? 1

SECTION C

(Short-answer Type Questions) 2%x3=6

(a)  “Major concentrations of modern manufacturing have flourished in

a few number of places in the world.” Support the statement with
examples. Ix3=3

OR

(b)  “Cottage industry is the smallest manufacturing unit.” Support the

statement with examples. I1x3=3

How is ‘Transport’ different from ‘Communication’ ? Explain with
examples. I1x3=3
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Qe g
(S-S TR & T99) 3x5=15

TRd § i qufyrse fue’ forg gopr e iR gEE @ 2 39 o9HEn &
TUTIH % foT 3T oSy | 2+43=5

“URdia Ia ST fava o @aifies @« 3 Sl § 9 U 8 | 39 %99 & Hgw

1 g i | Ix5=5
(%) IR-AETGYR EET I GRATNG HINT | IR-ohlea T i forel
IR foRIareti =1 Tose il | 1+4=5
arerat

(@) ‘ggmrr 3eg W giwrfyd v | I mier § wEmn o "l %
fohral =R TGl sl T2 T | 1+4=5

e T
(wmAters-snenfa T9)

qRA % fqu TU ToHifoe W@aEEE (98 11 W) § fAefaRied & 9 gl
gig i AT 1 3Uh sl g 3iferd Hiferg 3R 3 AW fafaw :  5x1=5

(10.1) TR — SAIE-3T%h 6l @M
(10.2) f3mmm — A 6 @

(10.3) STHIR — dANY HITEGHT

(10.4) Y&-ufvem Tfem 1 ge8 gl v
(10.5) Treell — ®RA K @H

(10.6) ‘Gt Tgis & go1 w8 <foh wEw
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SECTION D
(Long-answer Type Questions) 3Ix5=15

How is ‘urban waste disposal’ a serious problem in India ? Suggest

measures to solve this problem. 243=5

“Indian Railways Network is one of the longest in the world.” Examine

the importance of the statement. Ix5=5

(a)  Define the term ‘Trans-Continental Railways’. Explain any four

characteristics of Trans-Canadian Railway. 1+4=5

OR

(b)  Define the term ‘Highways’. Explain any four points of importance

of highways in North America. 1+4=5

SECTION E
(Map-based Question)

On the given political outline map of India (on page 11), locate and label
any five from the following geographical features with appropriate

symbols : 5x1=5
(10.1) Ratnagiri — Iron-ore mines

(10.2) Shimoga — Manganese mines

(10.3) Jamnagar — Oil refinery

(10.4) Eastern-most station of the East-West Corridor

(10.5) Neyveli — Coal mines

(10.6) Southern-most metropolitan city connected by ‘Golden
Quadrilateral’
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FHEITRGT 597 @dcT gIRamaa qagmaal & 7g 397 §&7 10 & €& T
& | fbgT giw Io7] & I G199 :

(10.1)
(10.2)
(10.3)
(10.4)
(10.5)

(10.6)

R8T T # TETART TilR-oT%h i @ oo & 2

form U1 ® SOHT daened @ R B 2

fore T & R Ffer <t @ fevra 8 2

qd-ufeem e &% wed e ®vm &1 am fafew |

34 TsF 1 A fARae Sret SiiEn i 6 @ ferd @ |
‘Wt FIqYs’ ¥ I gY T gl HER 1 AW fafaw |
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The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 10. Attempt any five questions :

(10.1)
(10.2)
(10.3)
(10.4)
(10.5)

(10.6)

In which State are Ratnagiri iron-ore mines located ?

In which State is the Barauni oil refinery located ?

In which State are Shimoga manganese mines located ?
Name the eastern-most station of the East-West Corridor.
Name the State where Jharia coal mines are located.

Name the southern-most metropolitan city connected by ‘Golden
Quadrilateral’. 5x1=5
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For question no. 10
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Outline Map of India (Political)
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